N = 0l & AF & &Z Al A
2000 = =0l & 2 BHa A
SN OIMIIER DA
HH: oldslY 2 =X 2E @

CHol: HHEE B2 (cro): &2l
S BB SR (B) - NEAY - BAS 0f & o Soe DB
oditsamad 132,028,973 111,217,261 20,811,712

= 88,780,082
Jl 293,000
= 469,347
S 42,486,544
Hds=e & =X 85 AN 131,947,588 111,130,581 20,817,007
= 88,780,082
p) 293,000
= 469,347
= 42,405,159
ddEs 54 1,405,960 1,249,780 156,180
= 32,332
= 1,373,628
FHzd 29 70,000 70,000 0
307 QIZ2told 70,000 70,000 0
04 QIZHHAE R 70,000 70,000 0
Orzt=d 29 70,000
HEF2ISHA X & 30,000 22,000 8,000
= 28,332
< 1,668
308 AXHMSOIA 30,000 22,000 8,000
= 28,332
= 1,668
01 NXSHMISEXS 30,000 22,000 8,000
O -2 SAt NI &
1,875,0002 16 Al = 30,000
= 28,332
= 1,668
HegdAHEd 29 1,100,000 950,000 150,000
306 9= 1,100,000 950,000 150,000
01 =£d= 1,100,000 950,000 150,000
odaxiea 24 950,000
OUEItE FE2EXEANLE & HE |4 150,000
HEZMEZS K& 4,000 4,000 0
= 4,000
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437,015
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437,015
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437,015
62,985

500,000

HI

H1

500,000
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500,000

W

H

41,000
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e 9 =% 25 A
CHol: OIS APSIE O] 2oy (et9l: &2
SN (B) - MBEAY - B2 Aol ad s HRZ2
0] & o8
307 QIZ2+tol A T 20,500
02 OI2tFAE X 41,000 80,000 39,000
ORI RRANE & 41,000
= 20,500
T 20,500
Mz Lot HdE 29 186,000 0 186,000
= 152,000
= 34,000
308 AHXIESHHMSOIA 186,000 0 186,000
= 152,000
& 34,000
01 XXNHHBIAEXZ 186,000 0 186,000
OAd MzLst)| HdE 249 186,000
= 152,000
o= 34,000
HEAEEHNE R& 49,740 38,540 11,200
201 LErEAH| 3,840 6,040 N2,200
01 AtR22id] 3,840 6,040 A2,200
O YA XA 3,840
307 QIZtolA 31,500 16,500 15,000
02 OI2tFAYH X 1,500 1,500 0
Od=20&Ua &I &2 1,500
04 DIZIHAISE 20,000 15,000 5,000
Osgu4dstots tHal 20,000
05 oIzZte&32 10,000 0 10,000
O=sd04d IXIthsr A 10,000
308 XAXIEHXMSOIA 14,400 16,000 A 1,600
01 AXSHHIABETZ 14,400 16,000 A 1,600
ON&AE RRIR 14,400
HeeldEs 2 ofet 2,121,550 2,114,144 7,406
= 1,109,891
J| 293,000
= 718,659
HAEBHUAZSEAIE SAA W 1,000 1,000 0




SH: GEIET A

B oldSY U =X B &)
ol He0IMES U oY (B9 @)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
307 QI2t0IA 1,000 1,000 0
02 2AHAEX 1,000 1,000 0
Odag2ALN NRsEed WS 1,000
o 240l W=\ 40,000 40,000 0
307 glz2told 40,000 40,000
02 2ItAa=EX 20,000 20,000
OO0jgl0l 4= oy deld= u=s 20,000
04 BIZFSHAIE X 20,000 20,000
OEZ2 S I8 H2SYHAES 20,000
= A=Y X LI ol AKX~ 1,247,154 1,475,769 N228,615
= 749,961
< 497,193
308 NXIHHMSOIE 1,004,298 1,205,319 A 201,021
= 631,883
& 372,415
01 XXSHHBILAEXES 1,004,298 1,205,319 A201,021
Odd2 =3t 1366 2 146,631
= 97,754
< 48,877
OJtd - 8=F84g4 2 496,632
= 331,088
< 165,544
O%E - H=2ags 2920 75,000
ONE=HIUANESAE 298 X 238,110
= 196, 091
= 42,019
ONEZHIHAIE SAL ExU=S 10,425
= 6,950
= 3,475
OWE=XAIZSALA MR 37,500
403 XXM SA=201H 242,856 270,450 N27,59%4
= 118,078
= 124,778
01 XXSHHIA2EX 11,900 270,450 A 258,550




SH: GEIET A
|

M odsEie & =X 25 AN
Chel: OjMOIAES o ofg (9l &2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OJIEEZGIHANESAE JIsEH 3,900
= 2,600
= 1,300
OWd2=d3 1366 JIsEH 8,000
02 SJI2SOICHECHE At Bl 230,956 0 230,956
O04 - stw==T| ol & ONEStopXI & HIH
sed 230,956
= 115,478
< 115,478
NEEY - S=HOIoHsI S YL S XA 359,785 180,853 178,932
Il 293,000
L= 66,785
308 XNXIEHHSOIE 359,785 180,853 178,932
Il 293,000
& 66,785
01 XXSHHBLAEXS 359,785 180,853 178,932
OJE - 828 AN XS MY 139,643
Il 115,000
= 24,643
OJXE - 4=kt X=28l= 220 199, 142
Il 164,000
= 35,142
OJtd - 424 It =8l X&
28,000,000 *75% 21,000
Il 14,000
= 7,000
< OHOH Il OH Kb+ = X1 & AH 39,525 35,445 4,080
= 32,550
= 6,975
308 NXIHHSOIH 39,525 35,445 4,080
= 32,550
= 6,975
01 TAXHHBLEXS 39,525 35,445 4,080
O« DHOHII o Xt =X & A
46,500,000 *85% 39,525
= 32,550
= 6,975
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BH: oS o =X HE A
ool doAES 2 oYy (Ste &)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
SOHOHIIHH S ES 2 X & 303,613 286,077 17,536
= 232,879
= 70,734
308 XXIEHXMSOIA 281,713 275,727 5,986
= 218,279
= 63,434
01 AXSHHI&AELEZ 281,713 275,727 5,986
OHXMOHONIIGH A RIRAIE 29 159,655
= 131,481
== 28,174
OHMOHOHIIGH AEA 29 87,472
= 58,315
T 29,157
OXdOHOHIIH A OEE 29 34,586
= 28,483
T 6,103
403 XXSHHSA20|H 21,900 10,350 11,550
= 14,600
== 7,300
01 XXSHA=2EX 21,900 10,350 11,550
OXMOHOHTIGH A RIZAIE DIsE2d 21,900
= 14,600
< 7,300
ZHIIHHAE =HXAAS 90,473 25,000 65,473
= 74,501
== 15,972
308 AXIEHXMSOIA 90,473 0 90,473
= 74,501
= 15,972
01 XXNHHBIAEZXZ 90,473 0 90,473
OZgIlol O0lF0d ESAIE 29 71,773
= 59,101
& 12,672
O Z=0e =HZE 3YA AIM D=
22,000,000 *85% 18,700
= 15,400
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= 3,300

O & ZOHCIALS| & O = CHKI & 40,000 70,000 A30,000
= 20,000
= 20,000

307 21201 40,000 70,000 30,000
= 20,000
= 20,000

02 QtFAE X 40,000 70,000 A30,000

OISO AIBIZO &0 X2

10,000, 000& *4 04 2 40,000
= 20,000
= 20,000

Chst JE=0l CHEt X3 5,189,384 6,560,576 A1,371,192
= 3,380,552
= 1,808,832

FRDNENHYS - DSHIX 1,953,231 2,200,347 A247,116
= 1,267,731
= 685,500

308 NXIHHMSOIE 1,953,231 2,200,347 AN247,116
= 1,267,731
& 685,500

I EEEREES 1,953, 231 2,200,347 A247,116
ONAS BR2IHY MY X2 507,034
OBSPIE THALIHIX 1,426,197
= 1,267,731
= 158,466

AL E X3 2SN 454,125 453,000 1,125
2 302,750
= 151,375

308 AHXIHXMSOIH 454,125 453,000 1,125
= 302,750
= 151,375

01 XXHHILEXS 454,125 453,000 1,125
OALNBNAHE LK 454,125
= 302,750




SN AIIEZ A
o ol8S5Y L =X BS XM

o9l Cht D0l Chet XIS (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
< 151,375
OENEXNJHH 2SN A 536,500 456,000 80,500
= 343,000
& 193,500
308 AtXISHX SO0I& 536,500 456,000 80,500
= 343,000
= 193,500
01 XXHNBINEXZ 536,500 456,000 80,500
OUZeIIEXJAMH 22 XA 416,500
= 343,000
= 73,500
Ot ZsIts XNdy 29 XA (=04 120,000
CIE23ots d=IRIIA e X3 300,000 300,000 0
308 AtXIHHMSOIH 300,000 300,000 0
01 XXHHBILEXZ 300,000 300,000 0
OC23ItE A= FIIALE 300,000
OOl =20l X & AL 265,200 353,600 A\ 88,400
= 218,400
& 46,800
308 XXIEHMSO0IE 265,200 353,600 A 88,400
= 218,400
& 46,800
01 RXSHNBINEXZ 265,200 353,600 88,400
OO0l =2 0IArY X &
78,000, 0002 *4JH 2~ *85% 265,200
=2 218,400
= 46,800
OGEsIEL2USAMS XA 1,433,654 1,282,055 151,599
= 1,180,656
& 252,998
308 XXIEHMSO0IE 1,433,654 1,282,055 151,599
= 1,180,656
& 252,998
01 XXSHNBNEXEZ 1,433,654 1,282,055 151,599
OU=23E Y2 USAY XA 1,433,654
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SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
2 1,180,656
= 252,998
eV STE =TS e 97, 164 229,000 ~131,836
= 68,015
= 29, 149
307 eI2t0IH 97, 164 0 97, 164
= 68,015
= 29,149
02 LAANBE 97, 164 0 97, 164
OROIOIIIE OIS LI XA 97, 164
2 68,015
= 29, 149
SRS SXAL 2% X2 149,510 119,924 29,586
308 XSSO 149,510 119,924 29,586
01 KASHILRES 149,510 119,924 29,586
OBERIE DNUSAAL 2 %, 155
OBR2RIE SNALEAT HEHES 9,500
OSERIE SXNAL22R LMWL 6,720
ODERN ZSHBIIY 29 24,035
OSNLEAETE SESEH] 17,100
YR0t BEAHUIA JlY 25 122,453,954 100,375,541 22,078,413
= 84,117,139
= 38,336,815
BEANL 25 864,645 2,720,045 A1,855,400
= 576,430
= 288,215
403 TIXISHSKH2O0IR 864,645 2,720,045 A1,855,400
= 576,430
= 288,215
01 XXISHH =R E 864,645 2,720,045 A1,855,400
OESAL S5(ME 21222 JINHE)
1,152,860, 00021 +75% 864,645
2 576,430
= 288,215
O2I0IILEIEY 29 250,000 250,000 0
I
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07 Q2o ™ 250,000
QIR = 250,000
OORI0IQLEIEE 29 250,000
SAABAIY KR 3,947,850
308 XHXIEHHISOIF 3,947,850
R RS 3,947,850
ONASE FR0F 244 X
500% x25,00021 «250 ! *30% 937,500
Ot sg=2s 29 N 26,400
OURSIIE gR0t S42SE N
160, 0002 *1,30001 122 +20% 499,200
OS+2SAE 29U X2
300,000 *507H 2+ 122 *20% 36,000
OBsSY 24 N
500,000 * 10 2« 122 «30% 1,800
OBSAEEANT XM
100, 0002 #7, 26221 122 x20% 1,742,830
OTHA RALO! 24 b 30,0002 20021 60! %20% 72,000
OQIHINRAIE RIHR 7Y
280,000,000 *20% 56,000
OHBNASE HUSSE
20,000& *1,0000! 123 *30% 72,000
OORI0IT 245842 SAH N
1713 %48,23121 %180 x30% 445,366
OBRAIE byl X
50,0003 516K 2~ *6& *20% 30,960
OS0E BRAIE 22 N 27,744
SFAMESAA ESNS 113,500 80,000 33,500
= 56,750
= 56,750
307 glz2told 113,500 80,000 33,500
= 56,750
= 56,750
05 BIZtREZS 113,500 80,000 33,500
OESANESAX ExUS 113,500
= 56,750
< 56,750
20 AL X3 20,000 20,000 0




SH: GEIET A

HE: dsY L =X 2SS ®Y
o9l R0 BRMUIA JlP 25 (£ @8
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
307 eI2tolH 20,000 20,000 0
04 DIABABE 20,000 20,000 0
Osg=89 & A 15,000
O+ - 27 HB BIt (3 5,000
EURSHBUE 29 200,000 200,000 0
= 100,000
= 100,000
307 eI2t0lH 200,000 200,000 0
= 100,000
= 100,000
05 CI2FeIEr3 200,000 200,000 0
OSLESIBNH 29 200,000
2 100,000
= 100,000
SEAE DD Y 816,000 720,985 9,015
= 530,000
= 286,000
308 XXEHSOIH 816,000 720,985 9,015
= 530,000
= 286,000
01 MASHMBIRES 816,000 720,985 95,015
OIS AL DD
1,060,000, 00021 *70% 742,000
2 530,000
= 212,000
OSSAIE DHMRPHI(FH)
148,000, 0002 *50% 74,000
SEAE B2 966, 000 1,706,040 AT40,040
= 690,000
= 276,000
308 XHXIEHHSOIH 966, 000 1,706,040 A740,040
= 690,000
= 276,000
01 KASHHALBES 966, 000 1,706,040 A740,040
Oxtzgetl 966, 000
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SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 690,000
= 276,000
ESAL 22N 1,276,247 1,143,410 132,837
=2 724,165
= 552,082
403 XXIEHSKHE0IH 1,276,247 1,143,410 132,837
2 724,165
= 552,082
01 MXESHMAZ2E 1,276,247 1,143,410 132,837
OESAE SZHA 1,086,247
=2 724,165
= 362,082
OESAIE SZHA(FI})
380,000, 000! *50% 190,000
BSESAHA 29,794,200 27,705,224 2,088,976
2 21,281,572
= 8,512,628
308 KAIEHSOIA 29,794,200 27,705,224 2,088,976
=2 21,281,572
< 8,512,628
01 RXNSHBH2ES 29,794,200 27,705,224 2,083,976
OESAIE SAK 24| 29,701,884
= 21,215,632
< 8,486,252
OTHA DAL Q1218 92,316
=2 65,940
= 26,376
NSESE XA 64,670,775 32,712,755 31,958,020
2 46,224,124
= 18,446,651
308 KA EHSOIA 64,670,775 32,712,755 31,958,020
2 46,224,124
= 18,446,651
01 RXSHBAZES 64,670,775 32,712,756 31,958,020
ONASE IS 2SN 64,670,775
=2 46,224,124
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== 18,446,651

OISNIOIRAEEZ XA 9,869,548 9,817,038 52,510
= 7,049,677
= 2,819,871

308 XXIEHXMSOIA 9,869,548 9,817,038 52,510
=2 7,049,677
= 2,819,871

01 AXSHHIABELEZ 9,869,548 9,817,038 52,510

OBt 5A1 O A BR

14,099, 354,000& *70% 9,869,548
= 7,049,677
o= 2,819,871

ZOIRAEES X 2,510,267 1,937,376 572,891
= 1,793,048
& 717,219

308 AXIEHXMSOIA 2,510,267 1,937,376 572,891
=2 1,793,048
= 717,219

01 AXSHHIABELEZ 2,510,267 1,937,376 572,891
OO RAEEZ 2,510,267
= 1,793,048
< 717,219

SAEHIA BrE A& 5,068,382 3,393,445 1,674,937
= 3,620,273
= 1,448,109

308 AXIEHXMISOIA 5,068,382 3,393,445 1,674,937
= 3,620,273
== 1,448,109

01 XXNHMBIAEXZ 5,068,382 3,393,445 1,674,937
SE 0l B2 5,068,382
= 3,620,273
= 1,448,109

Al 010lE0ts ¥=H| K& 2,031,540 0 2,031,540
= 1,451,100
= 580,440

403 XXM SKHE0lH 2,031,540 0 2,031,540
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403 XX SKH201H = 1,451,100
= 580,440
01 XXSHXMA2EE 2,031,540 0 2,031,540
ON& DI0IZ0IS 2SH]
2,902,200, 0002 <70% 2,031,540
= 1,451,100
& 580,440
ZOHOIE = 2ZH 55,000 0 55,000
= 20,000
< 35,000
403 XXISHMS K201 55,000 0 55,000
= 20,000
& 35,000
01 XXSHXMA2EE 55,000 0 55,000
OO E=&t& HH 40,000, 000& *75% 30,000
2 20,000
= 10,000
OFOje HRAL JsH
5,000, 0003 107 2 *50% 25,000
HESAHH (IS H2A) 81,385 86,680 A5,295
ASIH(HEIESZ 2L 10,200 10,200 0
A2IH(OHIIEEH2A) 10,200 10,200 0
203 YRFAY| 10,200 10,200 0
01 JI22HYRFL8Y| 6,000 6,000 0
OmH 6,600, 000%/-600, 000 6.000
04 RBEN2IYRFLYI 4,200 4,200 0
SICPE LN 4,200
22U (A} ET B ) 71,185 76,480 5,295
23H(HEIIEEH2A) 71,185 76,480 Ab5,295
201 Let3| 36,265 34,480 1,785
CEEE 3,265 34,480 7,785
OO&IIEHY AR EZ 36,265
202 044l 34,920 42,000 AT,080
01 =Wobl 34,920 42,000 A7,080
OWH&IE =& 34,920
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